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Introduction to Case Interviewing

In a case interview situation, the interviewer will present you with an open-ended business problem or issue and ask you to discuss it or solve the problem.  Recruiters use case interviews to measure your thought process and how you analyze complex business problems.  The case interview is an interactive process.  Your job is to ask the interviewer logical questions that will enable you to make a recommendation that solves the case.  There is no right or wrong answer.  The interviewer is trying to assess your thought process and determine if it is analytical and creative. 

The process you should use to answer the case includes:

· Identifying the relevant issues in the case

· Formulating the problem so it can be solved

· Applying relevant analytics to solve the case 

· Supporting and defending your analysis and conclusions that follow

Skills the Case Interview Assesses

· Leadership ability

· Analytical Skills

· Presentation Skills

· Energy

· Ability to think under pressure

· Poise

· Creativity

· Maturity

Types of Case Questions

There are generally three types of case questions that you may encounter in your interviewing process: the business case, guesstimates, and brainteasers. 

Business Case 

In a business case, you are presented with a business scenario and asked to analyze it and make recommendations.  Most business cases are given to you orally, but some may involve handouts or are entirely written.  You also may encounter a group case where three to six candidates are grouped together to solve a case cooperatively (Johnson and Johnson uses the group case format).  In the group case, your interviewers observe your interactions with your team in addition to your analytical and problem solving skills. 

Examples:

Entering a New Market

· Asks you to determine whether or not a company should enter a new market or develop a new line of products

· Example:  A major cruise line has decided that it wants to expand into the Hotel and Resort business.  How would you assess its ability to enter the Hotel market cost effectively and what would you recommend as an entry strategy.

· Tools:  Market Assessment, product portfolio analysis

· Assesses your understanding of market and supply chain dynamics

New Geographic Market Entry

· Asks you to assess if a company should expand into a new region or country

· Example:  A major US manufacturer of frozen dinners is considering introducing their products in Europe.  How would you go about assessing the feasibility of this idea.

· Tools:  Market assessment, supply chain analysis, competitor analysis

· Assesses your understanding of global market dynamics, currency issues and supply chain management

Competitive Response

· Asks you to recommend how a client should react to a move by its competitor

· Example: Your clients, a major cruise line, major competitor has just purchased a chain of resorts.  How would advise your client to react?

· Tools: Market and competitor assessment, structural analysis

· Assesses your analytical ability and knowledge of market dynamics

Regulatory Environment Changes

· Asks how a client should react when presented with a change in regulatory or government policy

· Example: TSC software is looking to hire 25 developers from Asia.  They are interested in understanding how they might employ these people without asking them to emigrate or importing them as foreign nationals.  How would you investigate this?

· Tools: Market assessment, supply chain analysis, competitor analysis, structural analysis, and regulatory analysis

· Assesses your analytical ability, and your understanding of supply chain and market dynamics and the regulatory environment.

Product Introduction

· Asks you to develop a strategy for introducing a new product

· Example:  The CEO of your company, a large consumer product company, asks your opinion in launching a new brand of shampoo.  What do you say?

· Tools:  4Ps, competitor and market analysis, and product portfolio assessment

· Assesses your knowledge of brand and supply chain management.

Falling Profits

· Asks you to identify reasons for a drop in profits

· Example:  You are a consultant to a company that manufactures snack food items.  Profit margins have been shrinking for the past three years.  Why is this happening? 

· Tools: BCG matrix, market assessment, product assessment

· Assesses your analytical skills and your ability to drill down from a high level statement

Mergers and Acquisitions

· Asks you to examine whether a acquisition/merger is advisable

· Example:  A major cruise line is considering acquiring Sandals Resort.  Is this advisable?

· Tools: supply chain analysis, market assessment and competitor analysis

· Assesses your quantitative skills, knowledge of regulatory environment and supply chain dynamics

Site Location

· Asks you to identify where a company should locate a new plant or facility

· Example:  A paper manufacturer is considering building a new plant.  Where should it build?

· Tools: Market, supply chain and competitor analysis

· Assesses your understanding of global market dynamics, regulatory environment, import/export environment, and supply chain dynamics

Guesstimates

Interviewers may ask you to determine how many bottles of wine are consumed in the US per year or how many gas stations are in Chicago.  The purpose of these questions is to determine if you are able to make reasonable estimates and calculations.  You are not expected to come up with the right number, however you should be expected to come close.  Other examples include:

· How many bottles of shampoo are sold at Safeway each year?

· How many ping-pong balls will fit in a 747?

· How many weddings are performed each day in Japan?

· What is the market size for skis in the Northeastern States of the US?

Brainteasers

Brainteasers test your analytical and “out of the box” thinking as well as your creativity and poise.  Examples:

· You are in a room with three light switches.  Each controls one of three light bulbs in the next room.  You must determine which switch controls which bulb.  All lights are off.  You may flick only two switches and enter the room with the light bulbs only once.  How would you determine which switch controls which bulb.

· You are in a rowboat on a lake with the anchor dropped.  You pull up your anchor.  Does the water level in the lake rise, lower or stay the same.  

Resume, Life/Work Experience Cases

The purpose of these cases is to test your business acumen, logical structuring ability and leadership skills.

Examples:

· Describe the main challenges of the last industry in which you worked.

· I see you play rugby.  Describe for me the different positions on a rugby team and the play strategy for each.

· Describe some of the greatest challenges of the Dean at George Washington University’s School of Business and Public Management.  How would you handle them if you were Dean.

Framework to Answer Case Questions

· Take notes while the interviewer is talking

· Clarify all assumptions

· What is the product?

· Who hired us?

· Is there a workplan in place?

· Has the firm done any research into the issue?  If so, what were the findings?

· What have other companies facing this same situation done?

· Ask questions and listen to the answers

· The interviewer will withhold information to test your questioning abilities

· Ask relevant questions

· Not asking questions is considered a fatal error

· Ask for time to think about the question

· Lay out your strategy for answering the question

· Tell the interviewer what you will be discussing in answering the questions.  For example, “first I will examine the market size for skis in the Northeast, then I examine the competitive environment, then I will conclude with my recommendations for the firm.”

· Think out loud in a clear logical manner

· Use a framework provided in this manual (if applicable)

· Communicate your approach to the interviewer-provide him/her with a roadmap of how you are going to solve the problem.  

· In all situations, you should understand the question being asked, pinpoint the objectives and identify the key players.

· Summarize your conclusions

Definitions, Theories and Frameworks 

This section should be used to serve as a refresher to the theories and frameworks you have discussed in your MBA courses.  You should refer to your coursework and materials for more detailed explanations.  

1. The Five C’s 

The five C’s can be used in many business cases including the cases focusing on declining profits, new markets, product introductions and financial cases.  To use the five C’s discuss the relevant points that concern each of the following.

· Character

· Discuss the overall perception of the company 

· Capacity

· Discuss if the factories are at, above or below capacity

· Are there plans to build new plants, improve technology at existing plants, or close under-performing plants

· Capital

· What is the cost of capital? (in relation to competition?)

· How healthy are the cash flows, debt and revenues in comparison to competitors?

· Competitive Advantage

· What advantages does the firm have that are not easily copied 

· Conditions

· What is the climate of the industry? Company? Competitors?

· Is the company emerging or mature? Is the industry emerging or mature?

2. The 3 C’s of Marketing

The 3 C’s is used to analyze new business opportunities

· Company

· What is the firm’s value proposition

· What resources are available

· Customers 

· Who are they?  

· What are their needs and what are they willing to pay

· Competitors

· Who are they?

· What are they doing and how do they differ from the firm in the case

3. The Four P’s of Marketing 

The 4 P’s is best used to analyze new product and marketing opportunities.  This model is generally used once a target segment has been selected

· Product

· Does the product serve customer needs? 

· Price 

· Is the price set to be a strategic advantage?

· Promotion 

· Present a promotional strategy that makes sense

· Placement 

· Physical location of the product.  

4. Porter’s Five Forces

This model, developed by Harvard Business School Professor Michael Porter can be used to examine the attractiveness of a particular industry.  Consultants frequently use this model to help clients evaluate industry attractiveness.  
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5. The 2x2 Matrix

The 2x2 matrix is a good framework to use any time you have two factors that, when combined, yield different outcomes.  A business appropriate example would be if a company were considering acquiring or building a new distribution center and is considering the financing options:

	
	
	Financing
	

	
	
	Stock 
	Debt

	Acquire/Build
	Acquire
	Medium Difficulty
	High Difficulty

	
	Build
	Low Difficulty
	Medium Difficulty


6. The BCG Matrix

This matrix, developed by the Boston Consulting Group, is one of the most popular 2x2 matrices.  This matrix measures a company’s relative market share on the horizontal axis and the growth rate on the vertical axis.
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· Cash Cows produce healthy cash flows that can be used to fund other businesses

· Stars require large quantities of cash to sustain growth but in general they are good investments and can yield large profits

· Dogs are modest users of cash that can become traps because of their weak positions

· Question marks require large amounts of cash to initiate growth.  They are poor revenue generators because of their weak positions.

7. Product Life Cycle Curve

You may want to use a product life cycle curve if you would like to determine how mature a product or service is:
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In the innovators stage, the company would want to concentrate on R&D and engineering to define the product.

In the Growth stage, the company would emphasize marketing, manage rapid growth and focus on quality. 

As the product matures, the focus would be on manufacturing and costs.  As prices fall, competition intensifies.

In the declining stages, the company should focus on becoming the low cost player.

8. Value Chain Analysis

The purpose of a value chain analysis is to determine where in the overall business does the company add value to a product or service.  The total margin of profit will be the value of the product or service to buyers, less the cost of production.  

This analysis attempts to identify competitive advantages by deconstructing the various changes a company’s business processes perform on a set of raw materials or other inputs.  Most can be easily copied by competitors, but there is usually a unique subset that represents the “value added” qualities only the company under scrutiny possesses.  This is the company’s competitive advantage or value chain.
 

Primary activities you may want to analyze include:


Inbound Logistics


Operations


Outbound Logistics


Marketing and Sales


Service

Support activities you may want to analyze include:


Company Infrastructure


Human Resources Management


Information Systems


Procurement

9. The 7 S Framework (McKinsey)

The McKinsey 7-S Model is a widely discussed framework for viewing the interrelationship of strategy formulation and implementation.  It helps to focus managers` attention on the importance of linking the chosen strategy to a variety of activities that can affect the implementation of that strategy.

Originally developed as a way of thinking more broadly about the problems of organizing effectively, the 7-S framework provides a tool for judging the "doability" of strategies.    

The 7-S framework views culture as a function of at least seven variables: 

                    strategy 

                    structure 

                    systems 

                    style 

                    staff 

                    skills 

                    shared values

The McKinsey 7-S Framework should be thought of as a set of seven compasses. When the needles are aligned, the company is "organized". When they are not, the company is not really organized even if its structure looks right.  If a 7-S analysis suggests that strategy implementation will be difficult, managers either can search for other strategic options, or go ahead but concentrate special attention on the problems of execution suggested by the framework.

10. Core Competencies

When using the core competencies as your framework of analysis, you should focus on the things that the company is really “good” at.  Those businesses or products that are not aligned with the companies core competencies may be a problem.  For example, Pepsi recently spun off its restaurant operation after it concluded that its expertise was in manufacturing and marketing beverages, not managing restaurants. 

11. Benchmarking and Best Practices

Benchmarking involves researching other companies in the industry in order to evaluate if your client is operating efficiently or determine areas of improvement.  Best practices identifies the companies that are doing things right (low costs or operating efficiency) and then determine how the client can emulate these companies.  

12. Net Present Value

The most important decision you may be asked in a case interview is whether a company should undertake a proposed investment.  In this case, you will want to determine whether or not the investment has positive net values.

The NPV of an investment is simply the present value of the series of cash flows generated by the investment, minus the initial investment.  

NPV=-Cº
+
C1  
+ C2
+ C3
     +…. + Ct
 




(1+r)
   (1+r)²
    (1+r)³
    (1+r)t

Where:


C°
 
= initial Investment


C1,2,3,t

= cash flow in year t


r

=discount rate

With few exceptions, only investments with a positive net present value should be undertaken.

Sample of a Case Question

GE has invented a new light bulb that never burns out.  It could burn for more than 500 years and never blink.  The director of marketing calls you in her office and asks, “How would you price this?”  What do you say?

Questions to Ask:

Let me make sure I understand.  GE has invented a light bulb that never burns out, and the marketing director wants us to help her decide on a price.  


Yes

Is coming up with the price the only objective? Or is there something else I should be concerned about?


Pricing is the only objective

Is there any competition for this product and do we have a patent?


We have a patent pending and there is no other competition

We know that the advantage is that this bulb never burns out.  Are there any disadvantages to this product?  Does it use the same amount of electricity?


There are no disadvantages except maybe price.  

What did you spend on R&D?


It cost $20 million to develop this product.

What are the costs associated with the conventional light bulb?

It cost us .05 to manufacture.  We sell it to the distributor for $.25, the distributor sells it to the store for $.50 and the store sells it to the consumer for $.75.

What does it cost to manufacture the new light bulb?


$5.00
Your Answer

So, if we use the conventional bulb-pricing model, the consumer would have to pay $75 for this light bulb.  If we use another simple model and that light bulb lasts a year and people will have this new bulb for 50 years, that is an argument for a retail price of $37.50 (50 * .75).  Then we would ask ourselves if a consumer would pay 37.50 for a light bulb that never burns out.  What are people willing to pay?  And is it enough to cover our costs and give us a nice profit?

The other main issue is that the more successful we are, the less successful we’ll be in the future.  For every eternal light bulb we sell, that is 50 to 75 conventional light bulbs we won’t sell in the future.  So we have to make sure there is enough of a margin or profit to cover us way into the future.

I have reservations selling to the consumer market.  The opportunity for pricing is not there.  Instead, we should turn this to the industrial market.  For example, the city of Evansville probably has 2000 street lamps.  Those bulbs cost maybe $20 and have to be changed twice a year.  The real expense is the labor.  It may cost the city $150 in labor to change the bulb (two union workers and one truck).  If we would sell the ever-lasting bulb for $400, they would make the money back in two years and we would have a handsome profit.

Analysis:

This is a pricing case.  The candidate first looked at the cost-based pricing and realized that the price was too high and that the typical consumer would not pay $75 for a light bulb.  Then he looked at the price-based costing model and concluded there was not enough margin built in to make it profitable.  Thinking outside of the outline given in the pricing case scenario, the student also realized that he would be cannibalizing future markets.  Thus, he decided that neither pricing strategy made sense for the retail market.  So instead of suggesting that GE just cut its losses and walk away, he looked for alternative markets.    

Sample Case Questions

Case Question # 1 (product lifecycle case)

You are a consultant to XYZ Company that produces large household appliances.  Over the past three years, profit margins have fallen 20% and market share has tumbled to 15% of the market from 25%. What is the source of the company’s problems?

Interviewer’s Facts

This is a mature product line.  The manufacturing process has not been updated since 1988.  XYZ manufactures the products exclusively in the US.  As one of the oldest manufacturer’s of the product, XYZ has a reliable customer base and a good reputation.  

Pricing Strategy

As for price, XYZ is one of the lower priced in the market, but not the lowest. 

Competition

One of the company’s competitors produces all of its appliances in Asia.  

Market Research

Consumers are confused about the product category and do understand the differences between XYZ’s brand and competitors brands.  It sells to all appliance retailers in the US.  

Promotion Activity

XYZ promotes aggressively twice a year and has smaller promotions once a quarter.  Price Discounts are made available to consumers twice a year.  XYZ advertises in major magazines targeted to consumers and active outdoor campaign underway.

Points the Interviewee Should Make

Thinking about the product Life Cycle Curve, this product is obviously in the maturity stage.  Therefore out strategic focus should be on manufacturing and cost.  

Cost Considerations

XYZ may be experiencing high costs due to older manufacturing techniques and manufacturing domestically.  This is especially damaging in a mature market where consumers are mostly aware of the product category and the product may be considered a commodity.  

Market Share Considerations

XYZ is competing in undifferentiated marketplace and there may be opportunity to capture additional share through aggressive brand differentiation effort.  It would be worth investigating the efficacy of current promotional programs, relative to competition.  The consumer may be responsive to other types of promotions that haven’t been used yet.  

Case Question #2 (Value Chain Creation)

Your niece approaches you and says “Since you are a management consultant, maybe you can help me.  I want to buy my mother a present for her birthday, and I was thinking of opening a lemonade stand to earn money.  Tell me what you think of my plan”

Facts:

Present is a $100 pair of earrings.  Her mother’s birthday is in 3 months and she is only available on the weekends to run the lemonade stand.

Points the Interviewee Should Make

Cost Structure

What are the expenses?  Need to buy a pitcher at say $2.  Every 100 plastic cups will cost you $1 in direct costs.  These are your base expenses.  You then have to make several cost decisions.  8 oz cups will mean that can serve more cups of lemonade per pitcher.  (if you have a gallon pitcher (64 oz) you can serve 8 servings per pitcher.  If you use 16oz cups (which may be perceived as a better value) means you can only serve 4 per pitcher)

You must also decide on what type of lemonade to serve.  Lemonade made from the powder concentrate is the cheapest (perhaps $1 per gallon).  Lemonade from fresh lemons gives you a quality advantage, but it is more expensive.  At .25/ a lemon and eight lemons to a gallon, it would cost about $2 per gallon pitcher.  

Assume $10 in sunk costs, $2/pitcher and $8 for 800 cups.  You then need to decide what to charge.  If you charge $.50 per cup (which is about the max you could charge) and it costs you $1 to make the cheapest gallon of lemonade, then you would earn $3 on each gallon sold.  In 4 weekends in 3 months, you would need to sell 37 gallons.  Then you would earn $111 enough for the earrings and the sunk costs.  That is 3 gallons per weekend or 24 cups each weekend.  

Other Factors 

Competition (not only other lemonade stands but also delis or convenience stores in your area)

Demand- Summer time or is it winter (should consider serving something warm)

Location- How many customers will pass by, can you set up at a sporting event, are you in a covered location is case it rains.

Competitive advantage?

Subsidies- will family help you cover costs

Advertising

Other products-cookies

Other revenue generating activities – baby sitting

Lower income requirements- finding earrings on sale or choosing another pair.

Case # 3: (guesstimate)

How many bottles of wine are consumed in the United States each year?

The interviewee needs to determine:

The number of people in the United States

The number of adults

The number of wine drinkers

Average number of glasses of wine consumed per week

Number of glasses of wine in an average bottle

Number of bottles used for cooking purposed per week

Reasonable Assumptions

There are about 300 million people in the US

250 million are adults

Perhaps 200 million drink alcohol

200 million drink wine

The average wine drinker drinks 2 glasses per week

400 million glasses of wine per week

About 5 glasses of wine in the average bottle

80 million bottles of wine consumed each week

Another 5 million used for cooking (just a guess)

85 million per week

Case #4 (guesstimate):  

How many men’s suits were sold in the US last year?

Interviewee should:

Estimate the population of the US

Cut that in half to get the number of men

Determine how many men are employed in occupations which require business attire

Determine how many suits the average business attire employee would have purchased

Assume a number of suits that those men not employed in business attire jobs purchased for religious, social or other reasons

Sum up the number and present answer.

Reasonable Assumptions:

Population of the US= 300 million

Men= 150 million

Assume 2/3 are employed  (2/3 * 150=100 million)

Assume every employed man owns one suit=100 million suits

Estimate that about ¼ of men are in a field where they must own more than 1 suit

If each of those men has an additional two suits, 25 million men * 2 additional suits=50 million suits

150 million suits in the US

Assume that the average suit owner replaces a suit once every three years.

150/3= 50 million suits sold every year in the US

Case #5 (new product): 

 A beer manufacturer is thinking about manufacturing a green beer.  It has hired you to help it decide what to do.  What kinds of things would you think about to help it make its decision?  (strategy and operations case)

Suggested Framework:  4 C’s (customer, competition, capabilities and cost)

To start with, I would gather information on the target customer for green beer.  For example, is the company planning to sell the green beer to the same people who drink regular beer?  Or do they  think that the green beer will attract a whole new customer base.  Is the company trying to grow the market for their beer by selling green beer to other-wise non beer drinkers.  

To determine if there is a market for green beer, I would do a survey of both beer drinkers and non-beer drinkers, to ask their opinions of a green beer product.  This would help me determine whether green beer would tap into a whole new market segment of the population, thereby creating a new market for our client, or whether the company’s regular beer drinkers would switch to green beer, thus cannibalizing sales of the regular product.  Cannibalization would be OK if the margins on green beer were higher than on regular beer.  

I would also want to determine how easy it would be for competitors to copy our green beer idea, if we were successful.  Is the green dye proprietary?  And if so, would red, blue and purple beer be met with similar success?  Are there no barriers to entry?  If not, then a marketing free-for-all would ensue and we would not be able to sustain a competitive advantage.  

Finally, the company should consider if they need or have the capacity in its existing plants or be prepared to build a new plant for the green beer.  If the current plants are underutilized, could it manufacture green beer with the same equipment?  In other words, I’d want to know how similar the manufacturing processes are for green and regular beers.  If their current plants are operating at capacity, we’d need to do an analysis of the economics of building a new plant for green beer, which would largely be based on whether we could sell enough to recoup the investment.

Case #6(Growth Strategies):  

Cow Brothers is a maker of super premium ice cream, low-fat ice cream, low-fat yogurt, and sorbet.  Its products are high quality and the company uses only natural ingredients.  Cow Brothers products are distributed nationwide through supermarkets, grocery stores, convenience stores, franchises, and company-owned ice cream shops and restaurants.

Cow Brothers has 30 flavors and sells its products in one-pint containers.  It also has single servings on a stick. 

Cow Brothers has strong brand recognition.  Its “Have A Cow” marketing campaign met with great success.  1998 sales were $200 million ($177 million came from supermarket and grocery store sales), which put the company third in the industry behind Haagen Dazs and Ben & Jerry’s.  These top three competitors hold 62% of the market.  

The president, Winston Cow, is still not satisfied.  He wants to increase sales to $250 million by next year.  How do you do it?

Interviewer Facts

Sales increased last year by 10%

Company is privately held. 

Overall industry growth is 12% (Ben & Jerry’s grew by 20%)

Prices are competitive

Supermarkets carry five flavors at a time, ice cream shops 15 

Points the Interviewee Should Make

Cow Brothers needs to not only increase sales, but also grow the company.  The three major ways to increase sales are to raise prices, get customers to buy more when they purchase CB and to expand the market base.  Since we are priced competitively, we should not raise prices.  We could consider selling two-pint containers rather than one-pint containers.  This way customers would buy more per transaction.  

The third way is to expand the market base.  There are five main growth strategies available: increase distribution channels, increase product line, launch a marketing campaign, diversify and acquire a competitor.  It seems as though Cow Brothers is tied into all of the distributions channels for the product.  But there must be areas of the country where distribution is weak.  I’d analyze these markets to see if we can increase the number of outlets that carry CB products.

Since CB already has thirty flavors and supermarkets only carry five at a time, increasing the number of flavors does not make sense.  CB should consider adding new sizes, not flavors.  Since the “Have a Cow” marketing campaign went well, we should look at increasing the marketing budget.  

Cow Brothers could consider diversifying into other products.  We could consider ourselves in the Dairy or Gourmet Food business and use our Brand name to launch a line of gourmet or cream cheeses.  The cream cheese could be distributed through all of the regular distribution channels, but CB could create a new channel through various chains of bagel shops which may also want to sell the single-serve ice cream products.  

Acquisition may be a possibility if CB can get funding without a great deal of debt.  CB may want to look at lesser, regional competitors, particularly in an area of the country where the distribution channels and name recognition are weak.  

To conclude, I would recommend that Cow Brothers increase its marketing budget.  In addition, I would increase the product line by offering two-pint container size as well as the one-pint size.  I would also diversify the product line in other dairy products to take advantage of the name recognition and established distribution channels.  Finally, I would conduct further research the possibility of acquiring a regional competitor where Cow Brother sales are weak.

Other Samples

Your client is the sugar cereal division of Foods Inc., a U.S.-based distributor and manufacturer of packaged foods. According to the division president, Foods Inc.'s traditional strength has been with grocery stores, which in total still account for the majority of its $1.1 billion in sugar cereal sales. However, a discount chain, Big M Mart, has been growing at a very healthy rate of almost 15 percent per year and has now become their leading customer. Your client is not sure how to react to this event and asked BCG for assistance with the company's distribution strategy. 
	
	First, let me make sure I understand the problem. Our client specializes in sugar cereals, and has traditionally distributed through grocery stores. Sales to Big M Mart, a discount chain, have been growing at 15 percent per year and they have recently become the largest distributor of their product nationwide. We are here to help her evaluate her distribution strategy in light of Big M Mart's growth. 

That is correct. 

Could you explain to me how grocery stores differ from discount stores? 

Sure. Grocery stores generally specialize in food items, as well as some household goods and over-the-counter pharmaceuticals. Discount stores, on the other hand, offer food items alongside a wide variety of merchandise, including clothing, home electronics, and housewares. 

Does Big M Mart market its food products differently than do grocery stores? 

Discount stores advertise lower prices across a wide variety of foods, particularly staple, non-perishable foods. 

Could I please take a moment to write a few notes to myself? 

Please feel free.

	
	Before making recommendations, I think we would first need to evaluate whether sales growth at Big M Mart is good or bad for Foods, Inc. In order to do that, I would first look at their sugar cereal's performance at Big M Mart versus other distribution channels. Second, I would look at their performance versus their competitors at Big M Mart. Next, I would determine the drivers of customer purchases. Finally, I would want to understand the supply chain. 

That certainly sounds like a reasonable approach. Let's proceed. 


First, I would like to get a better sense of where Big M Mart stands relative to our client's other distribution channels by examining the client's sales data and margins, by distributor. 

The marketing department does not have margins by channel, but tracks the sales and volume for its top five distributors. 
	Sales ($MM)
	1997
	1999
	2001
	5-Yr CAGR

	Big M Mart
	142
	162
	246
	14.7%

	R.J.'s 
	157
	185
	200
	6.2%

	Bozo Mart 
	143
	175
	189
	7.3%

	Ace Grocery 
	101
	109
	153
	11.0%

	Shoppers Mart 
	57
	62
	67
	4.0%

	Total Top 5 
	600
	693 
	856 
	9.3%

	Total All Distributors 
	1,000
	1,079
	1,150
	3.6%

	 
	 
	 
	 
	 

	Volume (000s boxes)
	1997
	1999
	2001
	5-Yr CAGR

	Big M Mart
	65
	74
	113
	14.7%

	R.J.'s
	72
	81
	85
	4.2%

	Bozo Mart
	65
	77
	80
	5.2%

	Ace Grocery
	46
	47
	64
	8.8%

	Shoppers Mart 
	26
	27
	28
	2.0%

	Total Top 5
	274
	307
	370
	7.8%

	Total All Distributors
	450
	468
	487
	2.0%




What does this imply about Big M Mart as a distribution outlet? 

It looks as if the top distributors were all growing more important, but particularly Big M Mart, which is growing faster than all the others. This is particularly true when we look at volume, where Big M Mart's growth is much higher than that of the other four channels. 

And how could you interpret what this data says about margins? 

While the clients' sales through other distribution channels are growing faster than volume, Big M Mart volume and sales growth are the same, so the average price paid by Big M Mart has remained constant. That implies that sales growth at Big M Mart could have negative implications for our margins. 

Next, I would like to look at how our client is doing relative to the competition within Big M Mart. Have they been gaining or losing market share? 

How might you find that out? 

I would try to interview Big M Mart's purchasing personnel, since they would probably track that data for their own purposes. 

Why would they want to talk to you? How might you approach such an interview? 

I would approach the purchasing personnel and suggest that our client and Big M Mart work together to identify best practices to reduce costs and increase sales of sugar cereals at Big M Mart. 

Let's say in a perfect world you could get a breakdown of Big M Mart sales for the four largest competitors (see market shares below). 
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What can we interpret about our client's competitors within this channel? Who should they be worried about? 

It looks like our client is losing market share, as is Tasty Breakfast, while Cereal Co. and private label are gaining share. However, private label looks to be growing from a very small base. 

I would like to explore why our client is losing market share to Cereal Co. at Big M Marts. Are their prices better than those of our client? 

After a period of price wars six to seven years ago that lowered industry margins, the cereal companies have refrained from price competition within the same channel. 

If prices are not driving the difference, I would look at other factors such as brand selection, percentage of shelf space, product placement, and in-store promotions. 

Visits to Big M Marts indicate that each name brand company holds 30 percent of the shelf space, while private label has ten percent. However, Cereal Co. brands tend to be placed lower on the shelf than your client's products. 

That placement could be especially important to children who are looking at the different types of cereals. Are there any other promotions? 

Some Cereal Co. brands have sales promotion tags, and the team notes that store flyers advertise specials on Cereal Co. brands for "Big M Mart Customer Cardholders." 

So, even if all the companies are maintaining product prices, maybe Cereal Co. is strategically discounting prices in order to gain market share. 

It seems like there is evidence of cooperation between Cereal Co. and Big M Mart. Do we know anything about the relationship between Big M Mart and Cereal Co.? 

During earlier discussions with Big M Mart, you discovered that your client's competitors have 50 sales representatives dedicated to the Big M Mart account. Your client has seven. 

Cereal Co. appears to be dedicating more resources to its relationship with Big M Mart than is our client. I think I have a good sense of distribution and competition. I would like to look at the customers and why they choose to select the products that they do. 

What do you think might motivate them? 

There are lots of factors, such as the games in the boxes, the price of the cereal itself, how it tastes. To better understand consumer behavior, we should conduct market research, possibly through focus groups, customer observation, and price sensitivity studies. 

BCG teams often do such research. You note that most buyers tend to fall into two categories. Approximately 60 percent go straight to one cereal and grab it. In about 25 percent of cases, they look at all the different cereals for one that interests them. 

For the "brand loyal" shopper, the priority would be product availability, while product placement would be important for consumers who like to shop around. 

Are consumers price sensitive? 

In general, BCG research indicates that consumers are not price sensitive. However, when the original choice of cereal is unavailable, the customers purchase discounted cereals approximately 35 percent of the time. 

From that data, it appears that price is not a major driver of purchases unless the store is out of stock. How often does the client make no purchase when the target cereal is unavailable? 

In approximately 25 percent of cases, the customer walks away without purchasing any cereal at all. 

It seems like product availability could be a major driver of total cereal volume for Big M Mart. I think I have a pretty good understanding of customer motivation. Let's move on to supply chain. I would want to talk to our client's distribution personnel to understand the distribution process. 

Cereals are distributed from the factory to the distributor's warehouse twice monthly. The retailer then stocks the shelves themselves. 

Do we have any knowledge about when the individual stores are out of stock? 

No, we do not, since our client only delivers to the warehouses and has no direct access to in-store inventory information. 

Since we identified product availability as a key success factor earlier on, I would want to make sure that the stores were stocking the product correctly. 

Let's say that in your earlier in-store investigations, you found out that Big M Mart stores averaged 15 percent of sugar cereal brands out-of-stock, across all brands. 

Stock-outs would be a major problem for us, since 60 percent of customers look for a specific brand of cereal and 35 percent of them might buy Cereal Co.'s promotional products. Big M Mart would also have an incentive to reduce out-of-stock incidents, since 25 percent of the time, a brand loyal customer will walk away without buying anything.

	
	
At this point, I would like to summarize what I know. 

Big M Mart is consolidating the distribution market. Although sales to Big M Mart are increasing on an absolute basis, our client's margins there are lower than in its other channels and their competitive position is eroding in that channel. 

At Big M Mart, our client faces competition from both private label and Cereal Co., although the latter appears to be the greater threat. There appears to be a relationship between Big M Mart and Cereal Co. as evidenced by their joint promotions, the superior placement of the Cereal Co. product, and the substantial resources that Cereal Co. has dedicated to the Big M Mart account. 

Approximately half of customers are brand-loyal, implying product availability would be most important. However, 25 percent like to try different kinds of cereal, indicating product placement would also be important. Only a small percentage of purchasers appear to be price conscious, unless the type of cereal they are looking for is out of stock, in which case there is a stronger tendency to purchase based on price promotions. 

In terms of distribution, our client is making deliveries twice per month to Big M Mart's warehouses, which, in turn, is responsible for stocking the shelves. We currently have no direct knowledge of when our items are out of stock at the individual stores, but there is evidence that this does happen with some frequency. 

That is a good summary of the major issues. What would you recommend our client do? 

The sales through Big M Mart appear to have a negative impact on the bottom line, as they have lower margins. The client could work with grocery stores to ensure that they are able to compete effectively in the sugar cereal market. Perhaps they should also investigate whether Foods Inc. should leverage its other divisions to help the grocery store channel compete. 

To defend its current position, the client should move toward a partnership with Big M Mart and dedicate more resources to the relationship. The customer and competitor data indicate that our first priority should be to improve distribution to ensure product availability. Additionally, we should push for equal, if not better, product placement versus our competitors. 

Why would Big M Mart be willing to enter into a partnership with you? 

We could offer to share our information about customer behavior. First, by eliminating stock-outs, Big M Mart could increase its sales by more than 2 percent1 from customers who would not purchase anything, not including those who would be more likely to purchase higher-margin product instead of reaching for discounted brands. Also, sharing price sensitivity data could help reduce the attractiveness of price promotions and possibly allow for higher price points (increasing revenue for our client). 

Additionally, if Big M Mart were willing to share information regarding product availability in their stores, we could work with them to improve the current distribution system to allow for more economical deliveries, while at the same time ensuring our product's availability in the store. 

Those sound like solid recommendations, but you should further investigate the cost of implementation and the impact on the entire Foods Inc. Company before going ahead with each of them. 


Your client is the largest discount retailer in Canada, with 500 stores spread throughout the country. Let's call it CanadaCo. For several years running, CanadaCo has surpassed the second-largest Canadian retailer (300 stores) in both relative market share and profitability. However, the largest discount retailer in the United States, USCo, has just bought out CanadaCo's competition and is planning to convert all 300 stores to USCo stores. The CEO of CanadaCo is quite perturbed by this turn of events, and asks you the following questions: Should I be worried? How should I react? How would you advise the CEO? 
	
	So, the client, CanadaCo, is facing competition in Canada from a U.S. competitor. Our task is to evaluate the extent of the threat and advise the client on a strategy. Before I can advise the CEO I need some more information about the situation. First of all, I'm not sure I understand what a discount retailer is! 

A discount retailer sells a large variety of consumer goods at discounted prices, generally carrying everything from housewares and appliances to clothing. Kmart, Woolworth, and Wal-Mart are prime examples in the U.S. 

	
	[image: image6.png]


Oh, I see. Then I think it makes sense to structure the problem this way: First, let's understand the competition in the Canadian market and how CanadaCo has become the market leader. Then let's look at the U.S. to understand how USCo has achieved its position. At the end, we can merge the two discussions to understand whether USCo's strength in the U.S. is transferable to the Canadian market. 

That sounds fine. Let's start, then, with the Canadian discount retail market. What would you like to know? 

	
	Are CanadaCo's 500 stores close to the competition's 300 stores, or do they serve different geographic areas? 

The stores are located in similar geographic regions. In fact, you might even see a CanadaCo store on one corner, and the competition on the very next corner. 

Do CanadaCo and the competition sell a similar product mix? 

Yes. CanadaCo's stores tend to have a wider variety of brand names, but by and large, the product mix is similar. 

Are CanadaCo's prices significantly lower than the competition's? 

No. For certain items CanadaCo is less expensive, and for others the competition is less expensive, but the average price level is similar. 

Is CanadaCo more profitable just because it has more stores, or does it have higher profits per store? 

It actually has higher profits than the competition on a per-store basis. 

Well, higher profits could be the result of lower costs or higher revenues. Are the higher per-store profits due to lower costs than the competition's or the result of higher per-store sales? 

CanadaCo's cost structure isn't any lower than the competition's. Its higher per-store profits are due to higher per-store sales. 

Is that because it has bigger stores? 

No. CanadaCo's average store size is approximately the same as that of the competition. 

If they're selling similar products at similar prices in similarly-sized stores in similar locations, why are CanadaCo's per-store sales higher than the competition's? 

It's your job to figure that out! 

Is CanadaCo better managed than the competition? 

I don't know that CanadaCo as a company is necessarily better managed, but I can tell you that its management model for individual stores is significantly different. 

How so? 

The competitor's stores are centrally owned by the company, while CanadaCo uses a franchise model in which each individual store is owned and managed by a franchisee who has invested in the store and retains part of the profit. 

In that case, I would guess that the CanadaCo stores are probably better managed, since the individual storeowners have a greater incentive to maximize profit. 

You are exactly right. It turns out that CanadaCo's higher sales are due primarily to a significantly higher level of customer service. The stores are cleaner, more attractive, better stocked, and so on. The company discovered this through a series of customer surveys last year. I think you've sufficiently covered the Canadian market-let's move now to a discussion of the U.S. market. 

How many stores does USCo own in the U.S., and how many does the second-largest discount retailer own? 

USCo owns 4,000 stores and the second-largest competitor owns approximately 1,000 stores. 

Are USCo stores bigger than those of the typical discount retailer in the U.S.? 

Yes. USCo stores average 200,000 square feet, whereas the typical discount retail store is approximately 100,000 square feet. 

Those numbers suggest that USCo should be selling roughly eight times the volume of the nearest U.S. competitor! 

Close. USCo's sales are approximately $5 billion, whereas the nearest competitor sells about $1 billion worth of merchandise. 

I would think that sales of that size give USCo significant clout with suppliers. Does it have a lower cost of goods than the competition? 

In fact, its cost of goods is approximately 15 percent less than that of the competition. 

So it probably has lower prices. 

Right again. Its prices are on average about ten percent lower than those of the competition. 

So it seems that USCo has been so successful primarily because it has lower prices than its competitors. 

That's partly right. Its success probably also has something to do with a larger selection of products, given the larger average store size. 

How did USCo get so much bigger than the competition? 

It started by building superstores in rural markets served mainly by mom-and-pop stores and small discount retailers. USCo bet that people would be willing to buy from it, and it was right. As it grew and developed more clout with suppliers, it began to buy out other discount retailers and convert their stores to the USCo format. 

So whenever USCo buys out a competing store, it also physically expands it? 

Not necessarily. Sometimes it does, but when I said it converts it to the USCo format, I meant that it carries the same brands at prices that are on average ten percent lower than the competition's. 

What criteria does USCo use in deciding whether it should physically expand a store it's just bought out? 

It depends on a lot of factors, such as the size of the existing store, local market competition, local real estate costs, and so on, but I don't think we need to go into that here. 

Well, I thought it might be relevant in terms of predicting what it will do with the 300 stores that it bought in Canada. 

Let's just assume that it doesn't plan to expand the Canadian stores beyond their current size. 

OK. I think I've learned enough about USCo. I'd like to ask a few questions about USCo's ability to succeed in the Canadian market. Does USCo have a strong brand name in Canada? 

No. Although members of the Canadian business community are certainly familiar with the company because of its U.S. success, the Canadian consumer is basically unaware of USCo's existence. 

Does CanadaCo carry products similar to USCo's, or does the Canadian consumer expect different products and brands than the U.S. discount retail consumer? 

The two companies carry similar products, although the CanadaCo stores lean more heavily toward Canadian suppliers. 

How much volume does CanadaCo actually sell? 

About $750 million worth of goods annually. 

Is there any reason to think that the costs of doing business for USCo will be higher in the Canadian market? 

Can you be more specific? 

I mean, for example, are labor or leasing costs higher in Canada than in the U.S.? 

Canada does have significantly higher labor costs, and I'm not sure about the costs of leasing space. What are you driving at? 

I was thinking that if there were a higher cost of doing business in Canada, perhaps USCo would have to charge higher prices than it does in the U.S. to cover its costs. 

That's probably true, but remember, CanadaCo must also cope with the same high labor costs. Can you think of additional costs incurred by USCo's Canadian operations that would not be incurred by CanadaCo? 

USCo might incur higher distribution costs than CanadaCo because it will have to ship product from its U.S. warehouses up to Canada. 

You are partially right. CanadaCo has the advantage in distribution costs, since its network spans less geographic area and it gets more products from Canadian suppliers. However, since CanadaCo continues to get a good deal of product from the U.S., the actual advantage to CanadaCo is not great-only about two percent of overall costs. 

All this suggests that USCo will be able to retain a significant price advantage over CanadaCo's stores: if not ten percent, then at least seven to eight percent. 

I would agree with that conclusion.

I would tell the CEO the following: In the near term, you might be safe. Your stores have a much stronger brand name in Canada than USCo's, and they seem to be well managed. However, as consumers get used to seeing prices that are consistently seven to eight percent less at USCo, they will realize that shopping at USCo means significant savings over the course of the year. Although some consumers will remain loyal out of habit or because of your high level of service, it is reasonable to expect the discount shopper to shop where prices are lowest. Moreover, over time your brand-name advantage will erode as USCo becomes more familiar to Canadian consumers. You certainly have to worry about losing significant share to USCo stores in the long term. You should probably do something about it now, before it's too late. 

Can you suggest possible strategies for CanadaCo? 

Maybe it can find ways to cut costs and make the organization more efficient, so it can keep prices low even if its cost of goods is higher. 

Anything else? 

It might consider instituting something like a frequent shopper program, where consumers accumulate points that entitle them to future discounts on merchandise. 

What might be a potential problem with that? 

Well, it might not be that cost-effective, since it would be rewarding a significant number of shoppers who would have continued to shop there anyway. 

Any other suggestions? 

CanadaCo might want to prepare a marketing or advertising campaign that highlights its high level of service. It might even institute a CanadaCo Service Guarantee that surpasses any guarantees offered by USCo. 

Assuming the only way to keep customers is through competitive pricing, is there anything CanadaCo can do to appear competitive to the consumer? 

It might want to consider offering fewer product lines, so that it can consolidate its buying power and negotiate prices with suppliers that are competitive with USCo's. It might lose some customers who want the variety of products that USCo has, but it may be able to retain the customer who is buying a limited array of items and is just looking for the best price. 

All of your suggestions are interesting, and you would want to analyze the advantages and disadvantages of each in more detail before making any recommendations to the CEO. 

Below are two examples that will help you think through the process of arriving at reasonable estimates. The third question is a brainteaser. It shows the need to be creative when tackling any case problem.

Q: How many pay phones are there on the island of Manhattan? 

A: A logical place to begin your analysis might be to ballpark the number of pay phones on Manhattan street corners. If you think of New York City as a grid of streets, you might guess it is about 300 streets long (north to south) by ten streets wide (east to west), so it has approximately 3,000 intersections. You might then assume there is one pay phone for every two intersections, for a total of about 1,500 pay phones.

If you’re feeling really creative, you might subtract the number of intersections that are “invalidated” because they fall in the area of Central Park. Say Central Park is ten blocks long by two blocks wide, or 20 intersections. Using your one-pay-phone-for-every-two-intersections assumption, you would want to subtract ten pay phones from the original 1,500.

You might then add to the 1,490 the number of pay phones that might be found in restaurants, hotels, schools, hospitals, and office-building lobbies.

Q: How many hotel-sized bottles of shampoo and conditioner are produced each year around the world? 

A: You might begin by assuming that hotel-sized bottles are produced for two purposes only: 

1. To supply hotels and upscale motels 
2. To provide samples for gift packs, salons, and so on 

You would then want to start by estimating the number of hotels and motels around the world that offer the products to their guests. One way of estimating the number of hotels is to assume that hotels are found predominantly in major cities and resorts. Figure that there are 2,000 major cities and resorts around the world, an average of ten for each of the world’s approximately 200 countries. Assume that each city averages 20 hotels that offer bottled hair products to their guests. Multiplying 20 by 2,000 gives you 40,000 hotels around the world that require shampoo and/or conditioner for their guests. 

To understand how many bottles of shampoo and conditioner the 40,000 hotels require, you now need to estimate the total number of uses each hotel on average represents. You can arrive at that number through the following calculation: assume that there are 100 rooms in each hotel, and that those rooms are occupied 50 percent of the time. Multiplying 40,000 by 100 by 0.5 by 365 (don’t forget the number of days in the year!) gives you approximately 750 million. 

However, it is probably reasonable to assume that a guest staying for longer than a day will not use a whole shampoo bottle every day. If you assume that an average of one shampoo bottle is used for every two occupied days in a given room, you can now divide your 750 million estimate in half to 375 million. To get to the number of bottles of conditioner, estimate a ratio between the use of shampoo and the use of conditioner. Since many of us do not condition every time we shampoo, you might assume that the ratio is 2:1. Dividing 375 million in half gives you approximately 190 million. Your conclusion would then be that 375 million bottles of shampoo and 190 million bottles of conditioner are required for hotel use every year. 

To estimate the total market size, you can probably make things easy on yourself by assuming that the number produced for sample purposes is a small percentage of the total, say ten percent. Combining your two markets would give you approximately 400 million bottles of shampoo and 210 million bottles of conditioner.

Finally, you might want to “reality check” your total figure. Assuming 610 million bottles are produced and sold each year at an average price of 25 cents each, the worldwide market for miniature bottles of shampoo and conditioner is about $150 million. Does that sound reasonable?

Q: You are in a room with three light switches, each of which controls one of three light bulbs in the next room. Your task is to determine which switch controls which bulb. All lights are off. Your constraints are: you may flick only two switches and you may enter the room with the light bulbs only once. How would you set about determining which switch controls which bulb?

A: To solve this riddle you must do some out-of-the-box thinking. The best way to determine which light bulb is which is to flick one switch on, wait for five minutes and flick it off. Then flick one of the remaining two switches on and leave the other off. When you enter the room with the bulbs, you can determine which switch controls which of the two lights that are off by feeling to see which of the bulbs is hot (from having burned for five minutes).

Other creative solutions involve pushing the constraints of the game. You might ask if the room you’re in has a phone, so you could call somebody to help you. You might ask if the rooms have a connecting window. You might assume you can leave the first room a number of times, and therefore go out, buy a drill, and bore a hole through the wall so you can see which light bulb is connected to which switch. Or, you might buy a mirror and place it strategically outside the door to guide you.
Remember, you are limited only by your imagination.
Your client is a U.S. defense contractor that manufacturers the Mohawk Light Fighter Jet for the British Royal Air Force. The company has produced the $20 million fighter jet for the past 12 years. However, the government has decided to put the contract out to bid and to win the program, the client's purchasing agents have estimated that the company will need to cut its costs by five percent. They have asked BCG to help them reduce costs. 

Let me first clarify the question. The client manufactures a $20 million jet and, due to competitive forces, has to reduce its cost by 5 percent. Is BCG's role also to verify the purchasing department's estimates? 

No, you can assume that the purchasing estimate is correct. BCG's role is to find the cost savings to meet those estimates. 

Could I please take a few minutes to think about the case? 

Sure, please do so. 

First, I would like to understand the cost structure of the jet in order to prioritize our efforts. Next, I would like to look at major factors driving the costs we are targeting. Finally, I would like to explore potential ideas to reduce cost. 

That sounds like a very logical approach. Let's proceed. 
Because the interview is limited in time, I think we should try to identify those areas most responsible for the cost of the jet. 

Time is also limited on real projects as well, so I think that would be a good idea! You have the following cost data on the jet. How would you interpret it? 
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The major cost driver for the jet appears to be purchased materials. Within manufacturing, direct labor is a fairly large component of cost, as is program management and corporate overhead within overhead. However, I think we would want to concentrate most of our efforts on materials, since that is where most of the costs can be found. 

That sounds like a good place to start. Where would you look within materials? 

I see that materials are broken down into purchased subassemblies, components, and raw materials. I understand what raw materials would be, but what would be the difference between components and subassemblies? 

A subassembly has its own complete functionality. An example would be the pilot night vision system. A component would be a smaller part, such as a part of the engine. 

I know that governmental agencies often have very strict guidelines about purchasing that could affect the cost of materials. 

For the sake of this case, you can assume that the British Ministry of Defense, MOD, allows "commercial off-the-shelf" purchases, which means that the client is free to purchase from whomever it wants, as long as it can ensure that the parts meet MOD quality guidelines. 

I see that purchased subassemblies comprise more than 70 percent of materials. How many suppliers are there for these subassemblies? 

There are seven suppliers of major subassemblies that go into the fighter jet. 

That seems like a relatively small number of suppliers. Are there more suppliers that are qualified to do this type of work? 

The manufacture of these parts requires a substantial investment in R&D, engineering, and infrastructure. It would be very costly for new suppliers to make the required investment, particularly if the client is trying to reduce the price it pays to the subassembly manufacturers. 

Since there are few suppliers, and the investment hurdle would preclude bringing in competing manufacturers, it would be difficult to reduce the price paid to them. Perhaps we should look elsewhere for savings. 

But remember, if you lose the contract, they will lose their customer unless they are teamed with the competing bidder. Even then, if the competitor is underbidding you, that will leave even less room for them to profit. 

Perhaps they would have an incentive to reduce their costs in order to maintain the contract. Is the majority of their costs in materials as well? 

How could you find that out? 

I would want to interview the purchasing and engineering personnel of the different subcontractors in order to understand their cost structures. If we had a better understanding of their economics, then we might be able to reduce cost across the board, allowing us to more effectively compete for the contract without killing everyone's margins. 

Let's say that purchased materials averages approximately 70 percent of the price paid to most of the manufacturers. 

If the cost of subassemblies represents 40 percent of the jet cost and 70 percent of that is purchased materials, total purchased materials would be approximately 28 percent for subassemblies. Our purchases of raw materials and components represent another 15 percent, for a total of around 43 percent of the cost of the jet. If we could reduce the cost of raw materials by 20 percent, then we could achieve more than eight percent cost reduction on the jet, more than enough to offset the five percent reduction we would need to win the contract. 

That sounds reasonable, but 20 percent is a very lofty goal. How would you go about doing that? 

First, I would look at the number of suppliers. Are there a large number of suppliers to the subassembly manufacturers? 

You estimate that there are approximately 125 suppliers of raw materials and components among the manufacturers of the subassemblies and yourself. 

Are these suppliers providing customized products or more commodity materials? 

About 80 percent of these products are commodities, such as sheet metal and wire harnesses. Even some of the electronics, such as printed wire boards and circuitry, are fairly generic. 

Are there many commonalities among the parts used by the different subassembly manufacturers? We could talk to their engineers and look at the designs and bills of material to determine how much overlap there is. 

Approximately 30 percent of the cost of raw materials is from similar materials used across the subassembly manufacturers. 

Do the engineers believe that the percentage of overlap could be increased if the designs were modified? 

They believe that they could increase that percentage substantially, particularly with basic materials such as screws and sheet metal, but also in other more customized areas. 

Since there is a lot of overlap in the basic components, we would want to know if the subcontractors are using the same suppliers. We could analyze the number of suppliers for each of the areas of overlap. 

Although there are some common suppliers, the analysis indicates that the subassembly manufacturers tend to use different suppliers. 
At this time, I would like to summarize what I know. Our client needs to reduce costs by five percent. The largest area of opportunity appears to be in purchased materials, the majority of which is composed of subassemblies manufactured by seven subcontractors. By looking at our purchases in total, we can target approximately 40 percent of costs. To achieve the five percent cost reduction, we would need to reduce costs by 15 to 20 percent. We could try to do that by increasing commonality in the design and by shifting volume to a smaller number of suppliers. 

That is a very good summary. How would you recommend the company pursue these goals? 

I would look first to combine purchases across the manufacturers, including our own. The Internet could prove to be a very effective medium to form a single "virtual" purchasing department in order to consolidate orders across the companies. We might also want to use a bidding system for those materials that are true commodities. Next, I would turn to the engineering departments and form cross-company teams to look for areas in which to increase commonality of design. 

That sounds great, and is very similar to a project we did as well! However, I would caution that you should examine the upfront costs involved in your recommendations, both for the redesign and the implementation of the purchasing system, before going ahead. 



� Sources consulted for this section include:  Mark Asher, Vault.com Guide to The Case Interview, Phillip Kotler, Marketing Management.  In addition, the case interview handbooks of Georgetown University and the Kellogg School of Management were also consulted.  
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